— 66—

39 AT 40 Ll EDEIE DL

nEED MBERR
IAT40 =LAk IAT40 sk aFt IAT40 R LB IAT40 ki &t
= % EH % S % = %
Bt 5 1.2 410 98.8 415 21 5.2 386 94.8 407
= 3 0.6 538 99.5 541 1 2.1 514 97.9 525
B, x?=10.5 p =0.0012, &t; x2=4.9 p=0.0272
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< 40 S0GS DR

5 R

54 % S % L
St
20 @i 8 16.3 41 83.7 49
30 it 14 16.5 n 83.5 85
40 m X 22 16.8 109 83.2 131
50 mEft 19 12.6 132 87.4 151
60-64 &% 15 10.6 127 89.4 142
65-69 % 13 9.5 124 90.5 137
70-74 7% 8 6.8 109 93.2 117
15 mLlt 2 4.0 48 96.0 50
£ 101 1.7 161 88.3 862
L4k
20 A€ 3 3.8 17 96.3 80
30 mEfX 6 3.9 149 96. 1 155
40 i 5 2.8 173 97.2 178
50 A 6 3.0 194 97.0 200
60-64 % 1 0.7 146 99.3 147
65-69 &% 1 0.8 132 99.3 133
10-74 &% 1 0.7 144 99.3 145
[LY- 1> 8 0 0 17 100.0 11
2N 23 2.1 1092 97.9 1115




F41 S0GS 5 RLLEDEIGDLLE

REER MR ER
S0GS 5 ALl kE SOGS 5 MK &t S0GS 5 Sk SO0GS 5 K
=3 % £ % =5 % =M %
Bt 56 12.8 380 87.2 436 45 10.6 381 89.4
g3 11 1.9 559 98. 1 570 12 2.2 534 97.8

—19 -

B x?=1.1, p=0.2979, Zit; x?=0.10, p = 0.7528
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& 42 BREEROBE

L B1ELT E1ELT B4 EELA &5t
EH % EH % =8 % EH % = %

B
20 Btk 4493.6 2 4.3 0 0 0 0 0 1 2.1 47
30 Bt 80 96. 4 1 1.2 1 1.2 0 0 1 1.2 83
40 A% 115 92.0 1 0.8 1 0.8 1 0.8 7 5.6 125
50 Bt 131 93.6 3 2.1 0 0 0 6 4.3 140
60-64 2% 130 95. 6 1 0.7 2 1.5 0 3 2.2 136
65-69 2% 119 93.0 3 2.3 1 0.8 1 0.8 4 3.1 128
70-74 85 88 84. 6 2 1.9 2 1.9 1 1.0 1 10.6 104
5ELULE 36 81.8 1 2.3 0 0 3 6.8 4 9. 1 44
T
20 4% 70 94. 6 2 2.7 0 0 0 2 2.7 74
30 Bt 134 91.8 2 1.4 3 2.1 0 7 8.4 146
40 Bt 149 8.7 7 4.2 3 1.8 3 1.8 6 3.6 168
50 AR 1% 163 86. 2 6 3.2 2 1.1 1 0.5 17 9.0 189
60-64 25 117 85. 4 6 4.4 6 4,4 1 0.7 7 5.1 137
65-60 &% 108 87.8 2 1.6 2 1.6 0 0 11 8.9 123
70-74 8 100 7.4 ) 1.4 5 3.6 10 7.1 23 16. 4 140
75t 53 73.6 4 5.6 2 2.8 3 4.2 10 13.9 72
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+® 43 EIRZEMGAMEOLE (550

REER RIBEER
L Bi1EUT | B1EUT B174E EJES-4=] L A1EUT BIEUT B174m EJEE=A=)
kS * % S S it S = = ® i
% % % % % % % % = % %
b - # # # # #% % #
B % 366 90.2 9 2.2 4 1.0 4 1.0 23 5.7 406|377 94.0| 5 1.3 3 0.8 2 0.5 14 3.5 401
% M 433 81.5 16 3.0 14| 2.6 12 2.3 56 10.6 531|461 89.0( 15 2.9 9 1.7 6 1.2 27 5.2 518

B, x2=4.3 p=0.23702, &t; x*=14.0, p = 0.0074



i 44 BDEPQ MO H %

—¥9 —

23 MR 23 |k

= % EH % =X}
Bt
20 #AE 46 97.9 1 2.1 47
30 mft 80 97.6 2 2.4 82
40 At 118 96.7 4 3.3 122
50 ft 137 99.3 1 0.7 138
60-64 &% 129 100.0 0 0 129
65-69 &% 125 99. 2 1 0.8 126
70-74 % 98 97.0 3 3.0 101
75 Ll b 38 95.0 2 5.0 40
ik
20 KAt 70 97.2 2 2.8 72
0 m 140 97.2 4 2.8 144
40 mEK 157 96.9 5 3.1 162
50 mft 170 96. 1 7 4.0 177
60-64 % 125 97.7 3 2.3 128
65-69 5% 112 98.3 2 1.8 114
70-74 % 102 90.3 1 9.7 113
75wtk 61 93.9 4 6.2 65
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F 45 BDEPQ 23 RLLEDEIE DR

D ABEED
BDEPQ 23 mkif BDEPQ 23 mllE &it BDEPQ 23 sk BDEPQ 23 Ll Lk &&t
S % = % £ % = %
Bt 383 98.2 1 1.8 390 388 98.2 1 1.8 395
83 453 94.6 26 5.4 479 484 97.6 12 2.4 496

B x2=0.0, p=0.9808, Ztt; x?=5.9 p=0.0152



FA6 ADIT LMDRH Y= T FRXMEDY DREE

—aF ikF (FIND)

—99 —

FIND7 54k FIND7 sk
S % EH# % &t
B : .
AUDITS siskit 24 4.0 571 96.0 595
AUDITS LlE 19 10.9 156 89. 1 175
it
AUDITS siskii 11 1.2 934 98.8 945
AUDITS 1Lk 3 9.1 30 90.9 33
Bt x2=11.9, p = 0.0005, Zt; x?=14.2, p = 0.0002
£ 41 —aFoikE (DS)
TDS5 s Ll k TDS5 fski#
4 % =H % &t
Bt
AUDITS gkt 87 14.5 515 85.6 602
AUDITS Sk 46 26. 1 130 73.9 176
oq 3
AUDITS miski 62 6.5 892 93.5 954
AUDITS Sl E 5 14.7 29 85.3 34

B, x2=13.1, p =0.0003, %= ; x2=23.5 p=0.0614




x4 A B —Fy MRTF
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IAT 40 ALl E IAT 40 k%
E4 % £S5 % &&t
B
AUDIT8 s kit 21 3.5 580 96.5 601
AUDITS SLl k 4 2.3 172 97.7 176
T
AUDITS giski 14 1.5 936 98.5 950
AUDITS &Ll L 0 0 34 100.0 34
£49 FyoIKE
S0GS 5 =Ll L SOGS 5 HkH
= % RH % &t
B
AUDITS g3k 70 11.6 532 88. 4 602
AUDIT8 sl t 27 15.3 149 84.7 176
-8 i
AUDITS sk 21 2.2 933 97.8 954
AUDITS Ll L 2 5.9 32 94.1 34
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F®O0 EREREDMERASE

A1EHUT B EUT B 174 @ ZIZXEA =X
=H % S % EH % EH % S %
B
AUDITS sski 551 92.5 8 1.3 0.5 6 1.0 28 4.7 596
AUDITS sl b 156 90. 7 5 2.9 4 2.3 0 0 7 4.1 172
=
AUDITS =ki®% 807 86. 1 23 2.5 20 2.1 12 1.3 75 8.0 937
AUDITS ALk 28 82.4 4 11.8 1 2.9 1 2.9 0 0 34
B x?=8.7, p=0.0695, &t x2=13.8, p = 0.0080
K51 BEOEE
#E36H A2°4H B1BUT L &t
S % S % E# % EH % 4 %
B
AUDITS kit 19 3.3 19 3.3 10 1.8 33 5.8 492 85. 9 573
AUDITS sl £ 29 17.5 11 6.6 10 6.0 15 9.0 101 60. 8 166
=
AUDITS Sk 9 1.0 10 1.1 21 2.4 43 4.9 802 90. 6 885
AUDITS sk 5 15.2 5 15.2 3 9.1 5 15.2 15 45.5 33

B x2=64.1, p < 0.0001, &= ;

x?=199.2, p=<0.0001
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F02 RNUYDTHEEUKRE

BDEPQ 23 MR

BDEPQ 23 mLlE

£ % eS| % &t
Btk
AUDITS mikif 570 97.8 13 2.2 583
AUDIT8 m Ll L 166 99.4 1 0.6 167
7k
AUDIT8 mzKifd 849 96.0 35 4.0 884
AUDIT8 gLl k 29 96.7 1 3.3 30




WHERD )=V T TR DHEE
#£53-1 1 EOKEE BREZEDH)

— 0L -

1EIOERES
6 BRI SRiE 6 B b &Et
S % EH %
Bt
BEHY 357 82.1 78 17.9 435
BiEGL 158 85.0 28 15.1 186
ik
BEHY 294 91.3 28 8.7 322
BELL 133 91.1 13 8.9 146
5 53-2
1BEOEEE
6 BGTISRIH 6 BAILLE &E
EH % E# %
Bt
BREEREL 268 85.6 45 14.4 313
RERIEE 240 80. 8 57 19.2 297
ik 4
EXKAERLC 236 92.2 20 7.8 256

REREE 182 89.7 21 10.3 203




— 1L -

£53-3 Rk - BROBHEORE
1 BOEER
6 Bk 6 BTl b =
R % = %
Bt
wHEHY 146 83.9 28 16.1 174
BHETL 369 82.6 78 17.5 447
Eog i
BHEHY 114 94.2 7 5.8 121
WAL 313 90. 2 34 9.8 347
®53-4 HEBEDEL
| BOEE
6 Bifir ki 6 BifrLL b &t
EH % EH %

B
B TRE 29 70.7 12 29.3 41
B < B 29 78.4 8 21.6 37
il 144 91.7 13 8.3 157
g3
BRThE 28 93.3 2 6.7 30
R4 GEE 9 90.0 1 10.0 10
L 136 94.4 8 5.6 144

Bt x?=14.0, p = 0.0009
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% 54-1

SERMBEHRE CRERROFE

S EMBEDHEE
Ay B 1 [ERiE A 1[E B 1A ZIFEH At
S % S % R¥ % R¥ % S %
St
BiEHY 379 67.7 90 16.1 46 8.2 21 3.8 24 4.3 560
BiEGL 147 62.0 62 26.2 9 3.8 9 3.8 10 4.2 237
=ik
BERHY 672 92.17 28 3.9 13 1.8 8 1.1 4 0.6 125
BIEGL 252 86. 6 31 10.7 3 1.0 2 0.7 3 1.0 291
B, x2=14.4, p =0.0061, %t ; x2=19.2, p = 0.0007
& 54-2 B ELDIEE
ZEBHBEDHE
&L A1 [ERE A1 E1E ZFER =h1
£ % RH % S % S % 4 %

B
RXRETERELC 245 64.0 85 22.2 24 6.3 17 4.4 12 3.1 383
REr1EE 2717 68.6 64 15.8 28 6.9 13 3.2 22 5.5 404
g i
BRETERLC 451 89.7 35 1.0 8 1.6 4 0.8 5 1.0 503
RERIEE 464 92.6 21 4.2 8 1.6 6 1.2 2 0.4 501
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F54-3 Rk - BROBHBIORE
ZEHHOREE
L B 1 [ExRiE A1 1= ZIZXEH &t
= % ES % e % S % £ %
B
BHEHY 152 69. 1 38 17.3 15 6.8 4 1.8 11 5.0 220
BHETL 374 64.8 114 19.8 40 6.9 26 4.5 23 4.0 577
=g
BHEHY 290 94.2 11 3.6 4 1.3 3 1.0 0 0 308
BHETL 634 89. 6 48 6.8 12 1.7 7 1.0 7 1.0 708
F&54-4 HEDEL
SEHEDEE
L A1 EXRS A1ME B1E FIFEH &t
4 % E# % =% % E# % S %

B
ERTRE 33 63.5 9 17.3 5 9.6 1 1.9 4 7.1 52
R < RE 40 75.5 3 5.7 5 9.4 2 3.8 5.7 53
L 180 76.0 29 12.2 13 5.5 7 3.0 8 3.4 237
g3 _
BRTKhE 67 89.3 3 4.0 2.7 3 4.0 0 0 75
%A GRE 31 69.9 1 3.1 0 0 0 0 0 0 32
i L 440 96.5 7 1.5 i 0.2 5 1.1 3 0.7 456
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F 55—1 AUDIT Mm%k

REBEOERELOEE
AUDIT
8 Mk 8 miE &
EH % = %
C-1¢ 3
BiEHY 422 77.9 120 22.1 542
BEGL 180 76.3 56 23.7 236
ik
BEHY 680 96.9 22 3.1 702
BELL 274 95.8 12 4.2 286
F55—2 EELOEE
AUDIT
8 MM 8§ RLE &t
= % S %

B
EXRETERAL 297 77.8 85 22.3 382
RER1EE 300 77.7 86 22.3 386
=
ERgiEAmL 474 96.2 19 3.9 493
REREE 468 96.9 15 3.1 483
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FO5—-3 Rk - BROBHEOFE
AUDIT
8 MR 8 mL Bt
EH % 34 %
Bt
BHEHY 160 76.9 48 23.1 208
BHELL 442 71.5 128 22.5 570
Tk
BHEHY 291 97.3 8 2.7 299
BHELL 663 96. 2 26 3.8 689
®O5—4 HBOEIL
AUDIT
8 mKRiH 8 ML &t

E=H % 2 %
Bt
ERTKRE 32 69. 6 14 30. 4 46
B4 GERB 40 76.9 12 23.1 52
kL 196 84.9 35 15.2 231
ik
ERTKRE 67 94. 4 4 5.6 A
R GRE 27 100.0 0 0 27
Tk L 433 97.7 10 2.3 443
B x2=6.8 p=0.0338
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CAGE & DFR:E

£56—1 REBEOERELOBE
CAGE
2 JRH 2=k =1
= % EH %
B
#\EHY 539 92.3 45 7.7 584
B|ELL 220 92. 1 19 8.0 239
=
BEHY 762 98.2 14 1.8 776
BELL 291 99.0 3 1.0 294
#zH6—2 (FREELOEE
CAGE
2 mkis 2 |k &Er
EH % E# %

B
EREIERAL 358 91.6 33 8.4 391
RBEE 391 92.7 31 7.4 422
g
ERETERAL 506 98.3 9 1.8 515
REREE 535 98.5 8 1.5 543




& 56—-3 Rk - BROBUHEOHE

— Ll —

CAGE
2 |R 2 Ak &t
ES 44 % -3 %
Bk
BHrEHY 212 91.8 19 8.2 231
BmEELL 547 92.4 45 7.6 592
ik
BmpEHY 337 98.8 4 1.2 341
BWEEGL 716 98.2 13 1.8 729
F56—4 HBOEEL
CAGE
2 R 2|k B/t

S % EH %
B
B TEE 54 94.7 3 5.3 57
B GERBE 55 96.5 2 3.5 57
ikl 222 89.5 26 10.5 248
ik
B TEE 85 98.8 1 1.2 86
BRI CIREE 40 100.0 0 0 40

i L 477 99.2 4 0.8 481
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DSM-1V & # - DRE

RO1-1 RERZROBELEDOHEE

DSM-IV 7 )L a—)Lik#E (BR7E)

E3=Rcach ZET B &Et

S % S %
Bt
BEHY 584 95.6 27 4.4 611
BELZL 242 96. 4 9 3.6 251
Tk
BEHY 800 98.9 9 1.1 809
BiEGL 303 99.0 3 1.0 306
£51-2 EERELOEE
DSM-1V 7 )L a—)uikTE (BRTE)
ZEET EEEKS) =
E# % =# %

Bt
BXaieRE L 393 96. 1 16 3.9 409
RERIEE 422 95.5 20 4.5 442
ik
BXaiecREL 521 98.5 8 1.5 529
REREE 569 99.3 4 0.7 573




